Find the hidden message Merry Christmas from Telford
_ 2 Health Library
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you reach the gold star at the top of the tree make another word and turn
TREE into GLOW in 5 steps
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Fir Tree Fun Ladder puzzle
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Christmas opening hours

Shrewsbury and Telford Health Libraries are open as normal until 4pm on

Tuesday 24 December. They will be unmanned over the Christmas break, reopening as
normal at 8.30 on Thursday 2 January 2025

Ask if you need 24hr access.
What happens to elves when

Shrewsbury Health Library sath.shrewsbury.library@nhs.net ext 2512 )
they misbehave?

Telford Health Library sath.telford.library@nhs.net ext 4440 ( { ave
' Santa gives them the sack
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Christmas jumble

Penguin puzzle ﬁlﬁ‘é"ﬁiie WOPOS m a WOI'o

6 seasonal words have been chopped
WhICh pengUIn goes SWImmIng In the Sea? up |nto three p|eces and m|)(ed up_ Can i Use only the letters in Merry Christmas  to find a word for each

Christmas Dingbats
Can you work out the

definition. Cut out the letters below and use them to help you C h rlst mas p h rases fro m t h ese

make words to fit the clues. Work with a partner and take turns

VOU Work OUt What they are? finding words and writing them on the lines. Cl’ypl'IC clues?

STN 1. Twelve months

TOE IST 2. Alike
NOR 3. Large town
4, Warmth

TLE 5. Grows on your head
DYC FRU 6. Part of a flower

7. Money
uTsS

Tofrankuch

8. Divide with someone

9. Water vapor

CHR CAN 10. Male sheep

ANE 11. A seat
CHE

12. Our planet

13. Bashful

THP MIS 14. Holds up a sail
MAS

XXX

15. Long-tailed rodent
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Maths Master < Multiplication crosswords a
s [9[x[8[=] ] =
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once per row and column, while using the v v a < 110
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Fill in the 5 x 5 grid with the numbers 1to 5 4

greater than/ less than symbols to work out
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what goes where. There is only one correct 5 < X 6=
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solution. Good luck




